KIALBTEIEATEYEE A,

X Rubber feet dimensions are not included.

¥ERLINZ / Components

No. FF / Part name = / Pcs #ME / Material £ - XELE / Color-Finish
1 IR 2 7 JLEHR A1050P MGYILN - R B - R
Panel Aluminium A1050P Metallic silver+Painted ( Unfinished inside )
2 E—r 2 PhN— 1 7L A6063S-T5 Miyhyn - REEE-EEENE
Heat-sink top cover Extruded aluminium A6063S-T5 Metallic silverPainted ( Unfinished inside )
3 THh— 1 TILSHRHAT A6063S-T5 AN - RE B -EE ENIE
Bottom frame Extruded aluminium A6063S-T5 Metallic silver-Painted ( Unfinished inside )
4 50T 3 vk 2 TILEHH A A6063S-T5 AUyIvn - RERE-EEENE
Flange bracket Extruded aluminium A6063S-T5 Metallic silver*Painted ( Unfinished inside )
5 D—ILRH Rk 2 EE M- TPE ARy HTL—
Fabric—over-foam gasket Conductive fabric* TPE Metallic gray
6 R E RGRA 7T M4 X 10) 8 ATULR LI
Screw ( Hexagonal M4-10 ) Stainless steel Unfinished
TS5 CEFTE R / Flange screw 4 £ / Steel ={lE- 0 A—F / Black trivalent chromate
252U+ v / Flange nut 4 £% / Steel =258 A—F / Black trivalent chromate
#£3iAT L2 / Rubber feet 4 2 1)ar 3 L / Silicone 735v% / Black

5
6
9
7
AREHLMIH I EREROE(FEGKRNSHINFEM T ZIC)RELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.
mf/Title
TAKACHI] #RX&#tahFEHTE 95y S Rt E—R LU HT LSS —2 O[]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. F| ANGED HEAT-SINK ALUMINIUM EMC SHIELD ENCLOSUR Eod]
AR/ Approved 1% X]/Checked #[X/Created & /Product number RE/Scale
1:3
EXHF29-13-30SS
iR 4t fiE] A " /e

e B /Date

2022/12/30




B-B(1:5)

305

g
i D

45
6.5

18

E(1:2)
detail E

14.5

‘5\

M3AF+ vk

M3 nut

ERATLE
Rubber feet

215

1.5

46

R LYK M3 X6
Screw M3-6

304
298

132
128.75

125

266.4

279

285

4-M5F M YT

4-M5Countersunk

EATLE
Rubber feet

C-C(1:5)

46 7

291.5
261.5

D-D(1:5)

BRSUINFERTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

4 /Title
TV RHE—RVITILE T —R
FLANGED HEAT-SINK ALUMINIUM EMC SHIELD ENCLOSUR

S
O

& &8/ Approved

iR

#&[X/Checked

FH

#[X/Created

il A

& /Product number

EXHF29-13-30SS

RE/Scale
1:5

YERZH/Date 2022/06/30




E—k 2% / Heat—sink top cover

298

20.9

2_5!18

, 285

, 272
o 232.4 9.8/|]

242

mf/Title
TAKACHI| #X&itahFEHTE E—kS S HHN— O[]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. HEAT-SINK TOP COVER
758/ Approved 1% X]/Checked #[X/Created & /Product number RE/Scale
W285-D298 1:4
iR KiL it A 3 /6
e B /Date 2022/06/30




TH/s/\— / Bottom frame

4-M5

280
266.4 ,
[ il
I ) —
231 ,
~
o
’ —
é A
262 o 1] 115
272 B
B 285 -
o0
D
N

mf/Title
TAKACHI| #ReutsahFEMTE RHs8— (} :II
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. BOTTOM FRAME
AR/ Approved 1% X]/Checked #[X/Created & /Product number RE/Scale
W285-H125-D298 14
iR it A KiL 4/ 6
1ERk B /Date 2022/06/30




/\NARJ)L / End panel

F-F(1:25)

B®~Ti%E / Max dim. 109.5

E-E(1:25)

]

110.5

)

272 |
l © )
=}
o
~
AN
F
| I
A#h~Ti% / Max dim. 266.4 E
2875
(0 0)
O J \©/

4-M5F MR

4-M5Countersunk

H-H(1:25)
G-G(1:25)
| ©\ anl 19 |
B
H
© ©)
- QG
(0 0)
2 -
ma/Title A —1
TAKACHI| #Xe#shFERTX 18RI O L
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. END PANEL
AR/ Approved 1% X]/Checked #[X/Created FF /Product number RE/Scale
W287.5-H127.5 1:25
iR A it A 5 6

YERZH/Date 2023/02/15




1175 __1
y T |
oo (o)
Tl ° )
Lo Eo)
m~ —
D (o]
N AN
L0
<
ol =
7! x\ =
i
6-C2 AT,
1292 16.8
D T o N
LO" ——ﬂ—’\i
I
L0 ‘\!‘ L0
AN — —
31.6 14.4

20 (Y

17.9

@ o
i )
mg*/t ) £ATLE
nu Rubber feet
a 5
R L~yR M3 % 6
Screw M3-6 —
4 /Title f\ |/|
TAKACHI| #XE#HshTFERT % 95,5 T Sy O L
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Flange bracket
& &8/ Approved & /Checked #1[X]/Created B F /Product number RI&/Scale
EXHF29-O-30 1:2
i B4 GBS 5 6
YERL B /Date 2022/06/30




	シートとビュー
	EXHFE29-13-30-モデル
	2
	3
	4
	5
	6


